20

56
()
54
56
H17 298 H18 225 H19 308 H20 245
H17 3106 HI18 2757 HI19 2697 H20 2627
H17 281 H18 324 H19 287 H20 259
10,201,000 5,000,000 o% ) o
38 5
36 8
20
H H H
1) 2 2) (1)
0 0 0 0
14 15 15 14
\ 1 1 1 1
5 5 5 4
\ 0 0 0 0
0 0 0 0
5 5 5 4
14 15 15 14
0 0 0 0
| | 3,047
20 19
(A) 27,068 (27,788) 16,740 (18,107
(B) 25,642 (28,272) 16,740  (18,107)
(A)-(B) 1,426 ( 484) 0 0)
1,426 ( 484) 0 0)
84.1 (77.9) 97.7  (97.4) 0 0)
105.6 (98.3) 19046 (1,4788) 0 0)
7.8 (13.7) 576  (633) 0 0)
132 20,8 576  (63.3) 0 0)
26 ( 129) 0.0 (0.0) 0 0
618 (65.2)
( 13046  (12,752)

57

16 16
16 16
H20
H20
21
1




18 19 20
(A) 31913 27,788 27,068
6 11 36
1,805 1,085 1,075
11,905 7,816 8,506
18,513 18,107 16,740
0 0 0
18,513 18,107 16,740
0 0 0
(B) 30,630 28,272 25,642
22,235 22,005 21,561
22,235 22,025 21,561
11,832 11,589 11,864
5,865 5,867 3,381
0 0 0
3,927 3,874 2,007
(C)=(A)-(B) 1,283 484 1,426
(©)
(E)
(F)=(D)-(E) 0 0 0
(G)=(C)+(F) 1,283 484 1,426
(H) 5,625 6,908 6.424
()=(G)+(H) 6,908 6,424 7,850
0 0 0
®) 0 0 0
(K) 10,201 10,201 10201
(L=Q)+(K) 10,201 10,201 10,201
(M)=(G)+(J) 1,83 484 1,426
(N) 15826 17,109 16,625
(0)=(M)+(N) 17,109 16,625 18,051
18 19 20

7,340 6,891 8,285
7,340 6,891 8,268
12,198 11,097 10,644
10,201 10,201 10,201

354
1,643 896 443
19,538 17,988 18,929
431 466 435
125 113 929

354
785 466 435
10,201 10,201 10,201
8,552 7,321 8,293
18,753 17,522 18,494
19,538 17,988 18,929




